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1.The equation given below represents photosynthesis.

X + Water ?:;i:f;h}_” * (Carbohydrate + Y

Which of the following is represented by X and Y in the given equation?
a)X- carbon dioxide, Y- oxygen. b) X- oxygen; Y- carbon dioxide.
c) X —carbon dioxide; Y- hydrogen. d) X- carbon; Y- oxygen.

2. Which of the following is the primary function of chlorophyll in plants?
a)To absorb carbon dioxide from the atmosphere

b) To absorb water and minerals from the soil.

c) To release oxygen.

d) To trap sunlight.

3.A farmer observes the growth of Rhizobium on the roots of a leguminous plant. How will this likely benefit the
farmer?

a.lt will increase the growth of unwanted plants.

b. It will increase the use of pesticides in the field.

c. It will reduce the need for nitrogen fertiliser in the field.

d. It will increase the growth of insects

4. Cuscuta is a yellow tubular structure that climbs on other plants as it lacks chlorophyll. A student sets up an ex
periment using two potted plants, plant A with Cuscuta and another plant B without Cuscuta . Which of the plants
will show more growth?

a. Plant A, as Cuscuta provides valuable nutrients to host plants for photosynthesis.

b. A, as Cuscuta shares chlorophyll of the host plants to synthesis its own food.

c. Plant B, as Cuscuta uses readymade food of the plant A that weakens the host plant.

d. Plant A, as Cuscuta shares its readymade food with host plants to increase their combined growth.

5. Which of the following provides the energy for the living organisms to carry out their life processes?
aNitrogen. b) Nutrition. c) Nutrients. d) Oxygen.

6. What will be the likely effect on the plant, if stomata remains closed for a prolonged period of time?
a.lt will allow the plant to store more food in the leaves.

b. It will allow the plant to absorb more minerals from the roots.

c. It will prevent the entry of water in the plant for photosynthesis.

d. It will prevent the entry of carbon dioxide in the plant for photosynthesis.
7. The term that is used for the mode of nutrition in yeast, mushroom and bread mould is:
a. Autotrophic. b) Insectivorous. ¢) Saprophytic.d) Parasitic.

8. The food synthesised by the plants is stored as:
a) Sodium carbonate. b) Starch. c) lodine . d) Calcium carbonate .

9. Refer to the given flow chart
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a. P-autotrophic Q-mushrooms R-saprophytic S-pea plant T-mistleto
b. P-autotrophic Q-rafflesia ~ R-saprophytic S- money plant T-amarbel
c. P-autotrophic Q-hibiscus R-symbiotic  S- cuscuta T-pitcher plant
d. P-autotrophic Q-bread mould R-saprophytic S-pea plant T-rafflesia

10 Food absorbed by the body. It must have to be breakdown into smaller particles, and after that, these molecules
get absorbed by the blood. Which life process helps humans to break down food?

a) Digestive system b) Nervous system c) Excretory system d) Respiratory system

11. Food that human beings take might have some components that cannot be digested by the human body. The
accumulation of these undigested food particles in the body may lead to several diseases in humans. What role
does the human digestive system play in this?

a) It helps the blood to absorb all these undigested particles.

b) It helps to remove these undigested wastes from the body.

c) It helps the enzymes to degrade these substances inside the body.

d) It helps the microorganisms present in our body to feed on this undigested waste.

12.Which of the following pair of teeth differ in structure but are similar in function? a) canines and incisors b)
molars and premolars c) incisors and molars d) premolars and canines

13. Selective breeding is a process of

a) selecting the offspring with desired properties

b) selecting the parents with desired properties

c) selecting an area for breeding.

d) selecting fine hair for good quality wool.

14 . The clothes are made of thinner and thinner strands called

a) Thread b) yarn c) fibre d) fabric

15. Anu revisited a historical monument after 10 years. She noticed that the white monument had turned
yellowish. Which event is most likely to have caused the change in colour of the monument?
a. Flood b. Drought c. Acid rain d. Thunderstorm

16. A student studies that a substance that tastes sour is generally acidic in nature. The table lists a few substances
found in the kitchen. Which of these substances are acidic in nature?
a. Curd and Corn b. Corn and banana c. Orange and corn d. Orange and curd

17. A student took a half-filled test tube with dilute hydrochloric acid and a few drops of phenolphthalein in the
solution. As he put a few drops of sodium hydroxide into the solution, it turned light pink. Further, he put a few
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extra drops of the acid and observed that the colour disappeared. What caused the colour to disappear from the
solution?

a. The volume of the solution increased b. The mixture turned into a neutral solution. c. The amount of acid in the
solution decreased. d. The amount of base in the solution increased.

18. A scientist tests a soil sample from an uncultivated field and concludes that the soil is highly basic in nature.
She suggests that adding organic matter to the soil could improve the quality of the soil. How does organic matter
improve the quality of the soil?

a. It releases acids which neutralise the soil. b. It traps water vapour and increases the moisture content.
b. c. It makes the soil lighter so that it can be easily transported.

For question two statements are given- one labelled Assertion (A) and the other labelled Reason
(R). Select the correct answer to these questions from the codes (i), (ii), (iii) and (iv) as given
below -

1) Both A and R are true and R is the correct explanation of the assertion.

i) Both A and R are true but R is not the correct explanation of the assertion.

iii) A'is true but R is false.

iv) A is false but R is true.
19. Assertion (A): The green pigment present in the leaves of plants is called chlorophyll.
Reason (R): The only function of chlorophyll is to provide green colour to the plants.

20.Assertion (A):Carbon dioxide is produced during photosynthesis.
Reason (R):Oxygen released in photosynthesis is utilised by all the living organism for their survival .

21. Assertion (A): Lichens are a symbiotic association of algae and fungi.
Reason (R): The fungus supplies food to the algae and, in return, the algae supply water and minerals to the fungus.

22. Assertion (A): Some plants are heterotrophic.
Reason (R): Few plants cannot synthesise food on their own and depend upon other plants and small animals.

VERY SHORT ANSWER TYPE QUESTIONS
Farmers spread manure or fertilisers in the field or in gardens, etc. Why are these added to the soil?
A person observes that some plants have deep red, violet and brown coloured leaves. Can these leaves carry out
photosynthesis? Give reason for your answer.

A farmer grew rice in one season and beans in the next season on the same field. He found that he did not
have to add nitrogen fertiliser to the soil. How does this happen?

Two potted green plants A and B of the same kind were taken to perform an experiment. Plant A was kept in
a dark room, while Plant B was kept in sunlight for 3-4 days. A leaf from each of the plants was taken to

perform the iodine test. Which of the leaves turned blue-black in colour and why?

Mandar and Farzin were eating their food hurriedly so that they could go out and play during recess.
Suddenly, Mandar started coughing violently. Think of the reasons why was he coughing.

What is diarrhoea? Why do we give ORS to patients suffering from diarrhoea?



7. Paheli wanted to buy a gift made of animal fibre obtained without killing the animal. Which of the following
would be the right gift for her to buy- a woollen shawl silk scarf or leather belt?

8. Four different types of fibres are given to us. Out of these, two fibres (1 and 2) are obtained from plants and
the other two (3 and 4) fibres are obtained from animals. Fibre (1) is used in filling quilts and the yarn made
of fibre (2) is used in making gunny bags, The yarn made from fibre (3) is used for knitting sweaters and
yarn of fibre (4) is used for weaving saris. Name the four given fibres marked 1,2, 3 and 4.

SHORT ANSWER TYPE QUESTIONS
9. A sheet of paper was torn into pieces and then burned. What changes does this sheet of paper undergo?

Explain.
10. Observe the given picture and answer the questions
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a) What change will you observe in the colour of the solution after dropping an iron nail into it?
b) Why do we observe the colour change in the solution? [c) What causes brown deposition on the iron
nail?
d) Write the word equation involved in the above reaction.
11. Give an example of a chemical reaction for each of the following situations:
(a) A change in colour is observed.
(b) A gas is evolved
12. A student collects wax from a burning candle. He melts it and then adds a new wick to it and leaves
it to cool. Can this process create a new and functional candle? Why or why not?
13. Kavya is trying to wash the yellow stain on her clothes with soap, and she noticed the stain colour
changed to red.
I. Name the natural indicator found in the curry.
ii. What is the nature of the soap?
3. A person is suffering from acidity due to indigestion. Is it advisable to give her orange juice in this
situation and why?

14. Roy added dilute sulphuric acid to lime water. Will the reaction mixture become hot or cold?
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